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Limits at infinity - Answers 

1. Evaluate this limit. lim𝒙→∞ 𝟑𝒙𝟓+𝟐𝒙𝟑−𝒙𝟐+𝟔𝒙−𝟕𝒙𝟓+𝟓     − 37 

2. For f(x) = 3x5 – 12x2 + 7 evaluate each of the following limits. 

(a)  lim𝒙→−∞𝑓(𝑥)   -∞ 

(b) lim𝒙→∞𝑓(𝑥)   ∞ 

 

 

3. 𝑓(𝑥) = 6−5𝑥27𝑥2+3𝑥         (a)  − 57                    (b) − 57                     (c) 𝑦 = − 57 

4. 𝑓(𝑥) = 4𝑥7−3𝑥2+67−9𝑥2       (a) ∞                     (b) -∞                      (c) No horizontal Asymptote 

5. 𝑓(𝑥) = 21𝑥4−3𝑥32𝑥+8𝑥2+7𝑥4     (a) 3                    (b)   3                       (c)  y = 3 

6. 𝑓(𝑥) = 𝑥3−5𝑥+87−4𝑥5             (a)  0                   (b)  0                    (c)  y = 0 

7. 𝑓(𝑥) = 2𝑥6−3𝑥4+𝑥2−35𝑥6+3𝑥3+8    (a) 
25                    (b)  

25                    (c)  𝑦 = 25 

8. 𝑓(𝑥) = √7+16𝑥21−3𝑥             (a)  
43                   (b) − 43                     (c)  𝑦 = 43 and 𝑦 = − 43 

9. 𝑓(𝑥) = 𝑥+6√3𝑥2+2              (a) 
1−√3                    (b) 

1√3                     (c)  𝑦 = 1√3 and = − 1√3 

10. 𝑓(𝑥) = 7+𝑥−3𝑥2√5𝑥4+𝑥2+8           (a)  
−3√5                   (b) 

−3√5                     (c)  𝑦 = −3√5 
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